H 7264

EBRAZA / Components
No. %% / Part name #E / Pcs '8 / Material &« REWIE / Color-Finish
1 JL—L 4 TILSIRH#T A6063S-T5 DIWIN=TIIA, TSVITILIA+
Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized
2 a—+—Javs 4 ABS#HiAE UL94HB SANTL—, TS5vY
Corner block ABS UL94HB Light gray , Black
3 3—4—3F v / Blind plug 8 ISANY / TPE SA+5L—, 759% / Light gray , Black
4 INASAFH ISR L 1 7ILEHR A1100P DILIN=T LI, TSV - BE
Slide panel Aluminium A1100P Silver = Anodized , Black * Painted
5 RCIESH/ R 1 7 L3R A1100P DILIN=TF AL, TS5y - BE
Screwed panel Aluminium A1100P Silver * Anodized , Black * Painted
6 HUFE R (X M4 x 15) 16 &% ={foRi—k
Screw (Pan head M4 - 15) Steel Trivalent chromate
7 BATE R (FE{F4M M3 x 5) 10 % Zub LAy ZESRA—k
Screw (Slotted raised countersunk M3 — 5) Steel Nickel plated , Black trivalent chromate
5
7
2
<
S
=)
Q‘%Q 3 % &
6
| 2 o
& p7
(2 )
1
4
r—XBIFE FCS - - 125
Product Number
W D BiLE
Color Code

W, D T FIBE B / Dimension limit range

W D

601~1000

400~600

BRSUINFERTE

4 /Title

) —H AL XRYI R
CUSTOM DIMENSIONS BOX

S
S

18 (EZFEEKED) / Color Type (End product numberd)
i85 / Code JXFJL / Panel SL—1s / Frame ~—F— / Gorner TAKACHI ELECTRONICS ENCLOSURE CO., LTD.
GSS S )LIN— / Silver S )LIN— / Silver SN L— / Light gray A& 58/ Approved & B /Checked H[X/Created
BSS 2 )LS— / Silver 2 JLsS— / Silver J5v% / Black
BBS 2 )LiS— / Silver 7574 / Black 754 / Black iR (52 %) bR
BBB 75v% / Black 7594 / Black 7594 / Black

B F /Product number

FCSO-O-1250 (W601~1000mm, D400~ 600mm)

RE/Scale

{ERX B /Date

2019/11/29




L —L348] / Frame3 side

D (400~600)

JL—.L148] / Framel side

]

W (601~1000)

=— B

—

>

TL—L218] / Frame?2 side

I

A-A(1:10)

INAAFHFINRILEZNT % / Slide panel Max dim. W—40

Bh~tiE / Max dim. W-46

|

RULEH/ARILETI~TiE / Screwed panel Max dim. W-46

L —L4A8] / Frame4 side

125.4

C : FL—LIEKE

Frame cross—section

<ti% / Slide panel Max dim. D-40

h

INMAFINRILE

B-B(1:10)

Bxh~ti% / Max dim. 119

B~ i% / Max dim. D-46

88.2

FvkL—JL / Nut rall
54K+

BFEVA T av g ASM4R Yk FZ-3 EANSENHEXFT,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted

RUEIEDN\RILEZN~TiE / Screwed panel Max dim. D-46

]
I

HASHINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
2)—H A XRyIR
CUSTOM DIMENSIONS BOX

S
S S—

iR

A& 58/ Approved

18X /Checked

FHt

#X]/Created

hiR

B F /Product number

RE/Scale
1:10

FCSO-0O-12500 (W601~1000mm. D400~ 600mm)

{ERLH /Date 2019/11/29

2 /7




18.1

8.7

18.1

8.7
4.5

4.05

1.2

1.65

2.5

19.7

13.7

8.2

1.8

5.7

13.7
22.7

14.7

14.7

124.4

4-M4
FvkL—JL / Nut rail

<

W-46

106.7

JL—.s1 / Framel

5
mmfa/Title A —
TAKACHI| BHXSHEHFEHRIE IL— L1 O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1
733/ Approved 18] /Checked H[X]/Created FIZF /Product number RE/Scale
H125.4 - W601~1000 14
iR ESZ ) iR 3/ 7
YEFL B /Date 2019/11/29




JL—.L.2 / Frame2

mmfa/Title
TAKACHI] #RXESHAHFERT % SL—L2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame2
7K 58/ Approved 18X /Checked H[X/Created R /Product number RE/Scale
H125.4 — W601~ 1000 14
iR At iR 47

{ERX B /Date

2019/11/29




18.1

8.7

18.1

8.7

4.05

4.5

1.2

1.65

2.5

19.7

13.7

8.2

1.8

5.7

13.7
22.7

14.7

14.7

124 .4

4-M4
FvkL—JL / Nut rail

3-M3

D-46

L —.L3 / Frame3

gm
~
©
o
b~
]
5
mmfa/Title A —
TAKACHI| HHARHEINTFERIE IL—L3 O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
7K 58/ Approved 18X /Checked H[X/Created R /Product number RE/Scale
H125.4 - D400~ 600 4
iR At iR 5 /7

{ERLH /Date 2019/11/29




JL—.,\4 / Frame4

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
JL—L4

Frame4

S
S

B/ Approved

iR

1% X /Checked

FHt

H[X/Created

hiR

B F /Product number

H125.4 - D400~ 600

RE/Scale
1:4

{ERLH /Date 2019/11/29




H¥~ti% / Max dim. D-40

EH#ti% / Max dim. D-46

INAAFHINA )L / Slide panel
Bxh~ti% / Max dim. W-40

JNFRJLERME / Panel Frontside

AL IE&H/SRJL / Screwed panel

BR~ti% / Max dim. W-46

/N JLFRME / Panel Frontside

fREES —MA

Surface protective film side

REES —MA

Surface protective film side

1.5 W-28.1
o
BN
[a]
/INAJLEEME / Panel Backside
4-R6
1.5 W-28.5 10-24.2
o
™~
<
0
o
BN
[a]
Lo
™~
<
13.75 13.75
/N JLZEME / Panel Backside
G /Title A —
TAKACHI| #XEtahFERTE ey O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A& 58/ Approved 18X /Checked #X]/Created B F /Product number RE/Scale
W601~1000 - D400~600 18
chiR B4t chif L
YERL B /Date 2019/11/29




	FCS□-□-125(W601～1000mm、D400～600mm)
	FCS□-□-125(W601～1000mm、D400～600mm)2
	FCS□-□-125(W601～1000mm、D400～600mm)3
	FCS□-□-125(W601～1000mm、D400～600mm)4
	FCS□-□-125(W601～1000mm、D400～600mm)5
	FCS□-□-125(W601～1000mm、D400～600mm)6
	FCS□-□-125(W601～1000mm、D400～600mm)7

